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SECTION - A
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(c) Draw the diagram of the micro-program sequen®
explain its working.
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Notation {RPN) :
(i) A+B*C+D*E+F
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contains X4. Calculate the effective address of the operand if the addressing

mode of the instruction is :
(i) immediate
(i) direct
(iii) indirect

(iv) relative

(v) indexed (5)

rogram for “fetching and execution of an
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(2) Write a symbolic micro P

EXCHANGE instruction.

(b) ory unit with a capacity of 16, 384 words-of

A digital computer has @ mefl tyo . .
40 bits each. The instruction code format consists of six bits for the operation

part and 14 bits for the address part . .
i i d a 40 bit Instruction Register (IR) 1s

soled in one memory word a .
¢ fetching and executing an
)

(no mode bit present). Two instructions

available in the CPU. Formulate a procedure fo

instruction for this computer.

g diagram for an instruction cycle.
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Draw a six-segment pipelin€ and its timin

Assume that the 3rd instruction is a branch instructioa.
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y programs to evaiuate the expression X=(A+B) (C+D)
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(b),/Write two asseémol

using three and two address instructions respectively- (5)

(a) List the elements of bus design. Differentiate petween synchronous and
i 5

asynchronous timing with the help of diagrams- (5)

(b) Draw the diagram of a DMA module and explain its functions. (5)
(a) Explain the working of PCI bus in a typical desktop system. (5)
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